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Until the fourth goring he is not liable - 299779 KD NOYSan oA TY

OVERVIEW

1A "M taught that we derive 21w '3 npIA from a v MW who is required to gore
three times before he becomes a 7. The X1 challenges this. A 77 MW has to
pay a 0>¥ p1i only after the fourth time that he gores. It stands to reason therefore
that a 7P should be accomplished only after four years. maoin will discuss two
ways how we are to understand the comparison of 717 MW to 21w '3 npin, and
consequently the soundness of the s’X773 question.

nooIN asks:
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It is astounding to the >''9; for what is the question that the X713 is asking; that
he should not be a P11 until the fourth year, just as an ox pays full damages only
on the fourth goring — this is not a question! For that which he is deriving from a

VI MY 1S as follows -
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Just as there, by a 77 W, he is established as a goring ox, if he gored three
times, here too, by a 7711 in a field, the previous owner is established as being

acquiescent, by not protesting for three years.
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If that is so; that we deriving from a 7v73 W the amount of times that is required
to establish a pattern; specifically regarding the intention of the original owner,
whether his silence is just a coincidence or it is to be interpreted as admitting to
this transfer of ownership, then from three years and onwards, that the original

owner did not protest it becomes established in the domain of the p1n. We have the
necessary proof that the original owner has no claim on this field. This is similar to a T¥7 MW,
where it becomes established that its nature is to gore, after three goring incidents. Why should
there be a need for a fourth year?!

' The comparison to an ox is as follows. When an ox gores once or twice it does not indicate that he is by nature a
goring ox. It is possible that it was a coincidence, and in reality it is a tame ox — an 7. However when the ox gores
three times a pattern has been developed; we do not assume anymore that his goring is a mere happenstance, but
rather that he is a goring ox; this is his nature. A pattern is established (only) by a three time repetition. Similarly by
a o 'x P when the original owner does not protest for the first or second year we may attribute his silence to
other causes; not necessarily that he is forfeiting his right to the field. However when he does not protest for the
third year as well, we have established a pattern of silence. He is not protesting, because there is no reason to protest.
His silence is a tacit admission, indicating that he sold the field to the p>min.
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N1B0IN answers:
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And the >''1 says; that the questioner who asked 121 n°y°27 7m°a1 79, he assumed

that this is what the X3 derived from 7vm0 2w —
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just as there, by a 7v 17 7w, when he gored three times he changed his status

from a half damage liability into a full damage liability —
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here too by 21w '3 NP1 since he consumed the produce for three years and the
owner did not protest, the field was removed from the possession of the

seller and placed into the possession of the buyer —
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Even though this is a concept without a rational basis.

SUMMARY

There two ways of understanding how we derive 221w '3 NP1 from 797 W
1. A pattern of behavior is established when something is repeated three times.
2. The rules and laws change when something is repeated three times.

Our jwpn assumes the second view.

THINKING IT OVER
How are we to understand the y17°n of the 121 Xnwi o7 ,N‘ml?S

* It seems (from the *") that according to the 7wpn we are not discussing patterns of behavior; but rather the status
of the laws of the 77n. From 7y 7w we derive that three times, changes the status of the law, from pri°xrto P11
o7w. Similarly, (according to the Jwpn) when a buyer and seller are disputing the ownership of property; up to the
first three years (of occupation by the buyer) the seller is considered to be in possession - the pimn; after three years
the buyer is considered to be the prmm. [If the seller is the pimn, then the onus of proof is on the buyer, that he
actually bought the field, and if the buyer is the P11 then the seller must prove that he never sold it.] It is difficult to
understand the relationship of these two laws that just as the payment changes by a MW after three times, therefore
the status of possession changes after three years; that is why n19on refers to it as a Xnayv 892 Rnon. If we are to
assume that this is the comparison between 7v77 M and 71, then the s'XM3 question is more readily understood.
The changing of the status of a pr1°¥r to a 2w P11 does not take place until the fourth 7°33; it is only then that he
actually pays a 02w pr1. By npim, therefore, the law should be the same, that the changing of possession should take
place only after the fourth year. Others explain that a 11 ceases to be a an after the third 7r°33; however he is not
(completely) a 7vm to pay a w"1 until the fourth time. Similarly by a npin after three years the original owner
relinquishes his 71p177; however it should not be in the possession of the P11, until after the fourth year. [During the
fourth year the 1°7 should be 223 2°9x7 93.]

? See 30 mx "™,
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